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B) WA LHRENI AT SBEDLAEDESMm) () OPLERENI AT SBE D LRFDEMm) %iwwiﬁtfégfﬁi‘ﬂﬁ%%ft J_ﬁ@f‘ﬁ& FriEHt HiEH AT
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(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) - - 98.3 1.0 - - 144 2.9 - - 98.3 1.0 - - 14.4 29
(2) 144.7 1.0 99.0 1.0 - - 14.2 2.8 144.7 1.0 98.3 1.0 - - 14.2 2.8
( 3) - - 99.0 1.0 - - 13.8 2.7 - - 99.0 1.0 - - 13.8 2.7
( 4) 1211 1.0 99.9 1.0 - - 12.6 25 1211 1.0 99.0 1.0 - - 12.6 25
(5) 157.3 1.0 994 1.0 171 34 15.1 3.0 157.3 1.0 95.2 1.0 171 3.4 14.7 29
(6) 153.2 1.0 99.7 1.0 16.6 3.3 15.1 3.0 153.2 1.0 99.9 1.0 16.6 3.3 149 3.0
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